


Dividing a Polynomial by a Polynomial:
Dividing one polynomial by another is very similar to long division.

Examp|e 3 Divide (6x2+8x +8) by (Fx + 1.
Step1: T +1)6x +5x+8
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Step 1: Write the problem as a long division problem. The binomial belongs on the outside of the division
symbol because it is the term we are dividing by.
Step 2: Now, we can begin dividing.
snea=a22S0, 2X belongs above the 8x.
Step 3: The next step is to multiply 2x by (3x + 1).
@nc+1 =6+ 2= Subtract that product from - Now, bring the + 8 straight down beside the

6X.

Step 4: (3x)(2) = 6x, so we place the 2 above the 8 in the answer.

Step 5: Multiply 2 by (3x + 1) to get 6x + 2. Subtract (6x + 2) from (6x + 8). There is a remainder of 6, so
we write the remainder as a fraction with the binomial as the denominator.
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Answer: A1
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